R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI.- DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, TX-4756

POWERED Bvlﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Fiberglass
Single Door w/ Sidelites

CONTINUOUS HEAD & SILL FRAME SYSTEM

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borme debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
i Typical elevations, design pressures & general notes
Door panel details
Slidelte panel details
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

NI~ A WwiN

69" MAX. OVERALL
FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)
97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

I

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FlL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

POSITIVE
INSWING +55.0 | -60.0 | +50.0 | -50.0
OUTSWING | +450 | -450 | +45.0 | -45.0

SEE SHEET 6 FOR THRESHOLD DESIGN PRESSURE LIMITATIONS

w
=
52
@0
oF
N
gt
<
¥ L =g
D =
S g @
35 S 5
ol o
al -9
<| Fx
P xl €3
=0
S/ e
=
& o,
a x
0>
LI o
Ly
o
o
s
O
3l
E (o]
o0 %
:‘DE 9
S8 2
i BN
HEN
3|
bl
SR
25
<
[+)}
REE
NEE
o
Z
oATE: 12/04/17
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—-4756

SHEET ] ofF 7




TON BANVLINSNOD BNIGUNg "My 9102 O

ZSBLL~d # NOILVMLSIOFY 40 ILVOIHLNIEO SNOISIATY
SUIINIONI TWNOISSIAOHd 40 Qu¥v0o8 SVX3L m.&ﬁ%% %uﬁm%@oﬂo Ad 31va JON™S 7_
LEL6°6S9°C18 1'ON UOHY . 3000 _2¥i/081 8102 01 31vadn Ju|x|2] 8 N
G6GCE 14 OOMIDA 0T Xog .o.m\h\wg "ATEWISSY ¥0 1dvd | §47 % NOUdO ,8woijuoisny qaviel/6L/1L} | M ~ ~ . _.M. =
*ON! ‘SINVLINSNOD ONIaTINg W z S | 2_
$ZLvOL# ‘T'd Svxal VdNAN3 w9 w s &
A'd IPRUYDS 4 uopuky :Ag petndeiy sjuewnoog 112n300Yd W m ES 5 w z
= - m
Za
a5 o
58 : 3
—_— - :N@O —-— m
ol
f 9
& S
< o
" O
# S 3
3 Q
=
w480 Ty
w o >
S 9 2
i O i z m mz
2 49 2 & 2 3%
Oa o 2 EO
« 23 o 35 OO0
G o0
= iy
a
S &
(5%}
m =
= 2
<z
% P
© 3
2
Lo
] |82
-
18 &
| 8¢ o
22
| € <
-
129
= =
e |58
» 1Q «
“ |&€8&a
m :
(% o oz
O O O
& & - o
:Tu_. L < b
= = =
i £ m g
N
o
o
= o
mw
w
<
:W.m Dl W 1Ll
2z
WLY'YS < <
(R
| 5
_v
) A | 6 o .m
N L MW ( | . h g
o == i o) o
= > Z Ht
oE a bt 1 v
—Z = % 0 —— X —r= &l O
FZ <z Q|8 =
= = Qals .
S % zQ
= ™ IM- L
— <
= O o L
2 . < = 5 5
pt ~—u'l— O& e
[Z Jpow ]
%
M ]
0L
i
o <
. nr
ZHE
LHOHEH TANVd ‘XYW .ST'56 23
m [TT]
[2°4
O
20

¥'2 BMP9g'saLp-X1\sBUIMEIQ - DN(9SLp-55L7) (8Q 1) OXO 400p D3 nuf-eunay) anbedO §56-¥a - IQL\SUI J0 3d3Q sexaL - G\LNINVINYId EANPUI\SIUBLDO\ Y



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756\\C - Drawings\TX-4755 56.dwg, 3.4

1.22"

Zi

14" MAX.

STILE (WOOD)

PANEL WIDTH

6-3/4" MAX.
D.LO.

<

95.25" MAX. PANEL HEIGHT
79" MAX.D.LO.

15.25"O.C.

MAX. (TYP.)

—-{ L— 3.25" (TYP.)

' SIDELITE PANEL
Therma-Tru Fiberglass

SIDELITE SKIN: FIBERGLASS {0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM

G1
INTERIOR

EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

3/

GLASS BITE 1/2"

#EX1-1/2PHSMS
INTERIOR \ J ——— 1/2" OVERALL GLASS THK.
\ 22
RERE L 1/8" TEMPERED GLASS

N AR SPACE

EXTERIOR

\ 1/8" TEMPERED GLASS

STEEL SPACER

LOW TACK SEALANT
3A

BUTYL GLAZING COMPOUND

C:) GLAZING DETAIL
PVC Lite Frame

1.33" *]

s

215"

—=]  |=—0.53"

. PVC LITE FRAME

S0ty ui
St oy, eR
LR =R T S R P )
Py SvZ D Yo o
el TR 2 ~ R Bt 0 0
o~ T tet 8 Ex -3 it 0
St Tt O £ 0 Zz
Swi, 1030 Gie¥ M du gB &7
: i g 2P 2
‘;F’: - M « 0. = ~ i
Su. w5 v SES  w
$ol Voizid s2 £ 27
o 133 H Zog 66
4 1, 10t > H<To BE
N R 4 284 8
lefif 2 °‘-,~:5:~ % g g
Ao 8R. o
TOPRAL—" || } f 0 xS &
(COMP.) . LY St
3 s 298 v
o o8
o=
2 S &
P&
E S
FIBERGLASS SKIN 3
0
s -
<N
63
Qo
< b
A 5 > %ﬁ)
INTERIOR ., EXTERIOR 2- 9 az
e —— L LLJ Lu L-lJ
g EX
. < =
= [0 90_
= I NS
S
| L & &
21 I
W
S O
= IS
3|z
N
I ) g
. o — =
FOAMCORE — ||+ SIQ| 2
f" [y
tlo| |&
Rel
Dy
315
<t
o
3 B
f =
=z
BOTIOM RAIL — * DATE: ’2/1\‘17‘;’_/5 17
[COMP.) ScALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
/~2"\ VERTICAL CROSS SECTION DRAWING MO
3 TX—4756

SHEET 3 oF 7

© 2016 R.W., BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756\\C - Drawings\TX-4755.56.dwg, 44

/
V4

/
Vi

v\‘\”—'

|

(A5

"FusionFrame”

MULLION \

AR
~”JX§A/’° §
FN
Tv

VA

<

(5

(3N A2 4

\&/

S

ELEVATION
OXO SHOWN
(XO/OX SIMILAR)

435"
L)

7D

2.5

FATBOY MULLION

PINE
NOTES:

1. Spacing for sidelite screws: 6.5", 35.5", 57.25" and 85" from head to sill (4 total).
2. Spacing for mullion screws: é" from each end plus 3 more equally spaced (5 total).

wOOD

COMPOSITE

/

NN

o ].5" ]

NCNCW

-

o
O]
]

=)

(0000

4,375"

28"
MULLION

"Fusionframe”

#8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW
(SEENOTE 1)

\\

BACK-TO-BACK JAMBS:
"FusionFrame” (1 OR 2-PIECE)

SIDELITE PANEL/ /

#8 X 2-1/2" PFH WOOD SCREW

#8 X 3/4" PFH SMS
m HORIZONTAL CROSS SECTION

4" HINGE

& ) INTERIOR
% ] enoura weaTHERSTRI
]
= (QEBD/PE 650)
- ENDURA WEATHERSTRIP
DOOR PANEL (QEBD/PE 650)
2 ‘K
#8 X 1" PFH SMS OOk PANEL
EXTERIOR STRIKE PLATE

#10X 2-1/2" PFH
WOOD SCREW
(SEE NOTE 2)

SIDELITE PANEL

#10 X 3" PFH

W

#8X2-1/2'PFH  woOD SCREW
LATCH WOOD SCREW

(SEE NOTE 1)

4"\ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

4-3/8" FATBOY

4-3/8" FATBOY

PINE MULLION
INTERIOR AN

w Outswing shown - Inswing also approved

PINE MULLION \
#8 X 2-1/2" FH COURSE
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW
THREAD DRYWALL SCREW (QEBD/PE 650) (SEE NOTE 1)
(SEE NOTE 1) DOOR PANEL ENDURA WEATHERSTRIP SIDELITE PANEL
/ (QEBD/PE 650) \ / .
P , A\ \ <
L s 4 ~
S SN N N
NS INN
/ & \
SIDELITE PANEL 48X 1" PEH SMS #8 X 2-1/2" PFH WOOD SCREW
#8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE

/"1 "\ HORIZONTAL CROSS SECTION

\y Outswing shown - Inswing also approved

m HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—-11852

HORIZONTAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS { PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

11/19/19|ADD “FusionFrame” OPTION &

1

REVISIONS

o
<
a
o
Z
7

DATE: 12/04 /1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4756

SHEET 4 oF 7

© 2016 R.W. BUILDING CONSULTANTS ING.



R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-955 Opagque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, 5.4

2X FRAMING 2X FRAMING - FE_{\'(‘)"EG
— (G >=0.42) (G>=0.42) (652042 /
—~— e — r: \
’4‘ N // " # - ‘_\
i - o M EXT. SHEATHING J/{|4 o
EXT. SHEATHING 1)1 N oRYWALL. | NI EXT. SHEATHING /] N
\ al =3 DRYWALL \ e \ i | DRYWALL
i | #10X2:1/2" PR - WM #10X2-1/2" PFH il
vevax. " WOOD SCREW ! (13— wooD screw it B
SHIMSPACE . [[l]] S 1/4' MAX. M ! ™ )
il RV SHIM SPACE ™ | ik g ™S #10 X 3" PFH
¥ ¥ WOOD SCREW
SGE SEE 1/4" MAX.
} SHIM SPACE 00b0 55’]
DOOR PANEL \ f SIDELITE PANEL ~ \ ? DOOR PANEL \
\ HEAD: PINE \ HEAD: "Fusionframe" “-PlECE)
‘ #8 X 2-1/2" FHl COURSE HEAD: PINE ENDURA WEATHERSTRIP
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW e e
(QEBD/PE 650) (SEENOTE 1)
\
EXTERIOR W NTERIOR INTERIOR " EXTERIOR EXTERIOR \ INTERIOR

/"1 "\ VERTICAL CROSS SECTION

\y QOutswing shown - inswing also approved

0.75" —t*—-—[ 0.75" '1-——>1 h}—— 0.75"
) e
COMPOSITE
\ SNAP-ON
CA<\
3 U
)
=
/
Ol LVL
]
of
—>[ 1.25" "‘“‘__.. 125" f=— | 195" =
JAMB / HEAD JAMB / HEAD JAMB
PINE "Fusionframe" "FusionFrame”
(1-PIECE) {2-PIECE)

/~ 3"\ VERTICAL CROSS SECTION

NOTE:

1. Spacing for sidelite screws:

2"\ VERTICAL CROSS SECTION
W Inswing shown - Outswing also approved

w Outswing shown - inswing also a

pproved

174" MAX.
SHIM SPACE 1/4'MAX.  #10X 2-1/2" PFH
#10 X 2-1/2" PFH WOOD SCREW SHIM SPACE  WOOD SCREW
JAMB: PINE DRYWALL JAMB: "FusionFrame" DRYWALL
\ / (1 OR 2-PIECE) /
#8 X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW THREAD DRYWALL SCREW
(SEE NOTE 1) - : ' (SEE NOTE 1) \
2X FRAMING 2X FRAMING
;X (G >=0.42) (G >=0.42)

S, SO SN, .3
P g e e e R B R

SIDELITE PANEL EXT. SHEATHING

7“4 "\ HORIZONTAL CROSS SECTION

SIDELITE PANEL

EXTERIOR

EXT. SHEATHING

/”5 "\ HORIZONTAL CROSS SECTION

w Outswing shown - Inswing also approved

W Outswing shown - Inswing also approved

uj

aq

-

23

Eg o

£ 0

[3) ]

N u O m

.2 £

S | >

cg ;

] o %

‘UP_.I oo

sF Ecl

3 459
8>n
Zow
QM
ONg
O X2z
Z 0
_mo
2455
509¢
[+ 30 N

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

4" from each end (2 totai).

wy
b
o
&
]
w
& o
& .
a 5 ©
Z o &
[¥y] = ©
o] I
=4
Qo
5 o E
2 o
o &
@ <C
0. [a M
D1 =
]G

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

11/19/19/ADD “FusionFrame” OPTION &

1

DATE: 12/04 /1

i
<
a
o
b4
7

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4756

SHEET 5 oF 7

© 2016 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, 6.4

— _— A\Y
ENDURA
2 ENDURA DOOR /Y
E}S\%’E DOOR SWEEP PANEL N DOOR SWEEP
AN (DBK-R)

[DBK-ZAC)
 "400000C

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

Inswing Arficulating Threshold
w nswing Articulating Thresho SIDELTE

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD

. 3

DRYWALL SCREW o DRYWALL SCREW o

(SEE NOTE 1) NN (SEENOTE 1) W77
INTERIOR 3 EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

PANEL \— 0 @ @

ENDURA WEATHERSTRIP

NOTE:

#10 X 2.5" PFH WOOD SCREW OR 1. Spacing for sidelite screws:
6" from each end (2 total).

1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW

/“3"\ VERTICAL CROSS SECTION
w Outswing Bump Threshold

ACD

7Zs) [Ny
N\

#10 X 3" PFH WOOD SCREW OR
1/4" X 3-1/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Inswing configuration

(I P

- (=0 i
g =0\ i A\ ﬁ 8
456 ——] b 456" | [ 155 |
T} INSWING ADJUSTABLE THRESHOLD 2} INSWING ADJUSTABLE THRESHOLD 3 | INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN ZAILAA4565
~ [ j
bl 456" | bl 456" |
2 )} INSWING ARTICULATING THRESHOLD ‘7" INSWING ARTICULATING THRESHOLD ("g}INSWING ARTICULATING THRESHOLD
IACL4565 ZAC4565FN IACLAA4565

\U Outswing configuration

u

= N g )
| 456" . } 456" |

2 INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD
LAIAA4565FN ZAI4585RDS

| MAX. DESIGN PRESSURE = +40 PSF |

1.6

[y 456" | f 456" l
2} INSWING ARTICULATING THRESHOLD 70} INSWING ARTICULATING THRESHOLD
TACAASE5FN TACAS65RDS

[MAX. DESIGN PRESSURE = +50/-50 PSF |

| MAX. DESIGN PRESSURE = +50/-50 PSF | | MAX. DESIGN PRESSURE = +50/-50 PSF |

[ MAX. DESIGN PRESSURE = +50/-50 PSF | [MAX_ DESIGN PRESSURE = £40 PSF |

! 456" !

11 }QUISWING THRESHOLD 12} QUISWING THRESHOLD
Z0BL4565 ZOBA4565FN

| 4, .
* 13} QUISWING THRESHOLD

1OB4565RDS

Lyndon F. Schridt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART QR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

11/19/191ADD “FusionFrame” OPTION &

1

REVISIONS

L
—
<
[a)
o
prd
7

DATE: 12/04 /1

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4756

SHEET 6 oF 7

@ 2016 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, 7.4

6.09" FROM
OP OF FRAME

4" (TYP.)

3" (TYP.) -LTL

2 (TYP.) —=

HEAD ANCHORS:
#10 X 2-1/2 WOOD SCREW (PINE JAMB)

¢ #10 X 3" WOOD SCREW (1-PIECE JAMB)

o

2X FRAMING
(BY OTHERS, TYP.)

o

2" (TYP.) —=]
4" (TYP) —=! }f ‘

HEAD ANCHORS:
#10 X 2-1/2" WOOD SCREW {PINE JAMB)
#10 X 3" WOOD SCREW (1-PIECE JAMB)

I |

SEE DETAIL 1
(TYP.)

*
llll’/\lk‘!

]

M|

I

_T

6"
(TYP.)

']

T T I 1 1
T Fi, }
SEE HINGE N
DETAIL 1 E
4 L=
<&
— o’ N . N
T B =5
s IN B 8o FRAME
ST (TYP.) ~=
0 X O - - O
& SEE HINGE -
i Fpk/ DETAL2
' S u
I
N SEE DETAIL 1
; (vp) JAMB ANCHORS:
B J « #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB)
o _ = \\| ~ #10 X 3" WOOD SCREW (1-PIECE JAMB) =
3e L1 LML ] L1
- =E ~— 4'(TYP)
S ) SILL ANCHORS:
#10 X 2-1/2" PFH WOOD SCREW
1/4" X 2-3/4" ELCO OR
—_— XOJOX
JAMB NOTES:

THE PINE OR "Fusionframe" 1-PIECE JAMB MAY BEYINSTALLED @ THE HEAD OR SIDE JAMB.

THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.

INTEGRAL MULLION NOTES:

THE FATBOY PINE MULLION, "FusionFrame” MULLION, OR THE "FusionfFrame" BACK-TO-BACK
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION.

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted fo maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded.

#8 X 2-1/2" COURSE

A

THREAD
DRYWALL SCREW

TAPCON® | /4 1-3/4" 1-1/ 4 DETAIL 1
ELCO " " " Infegral mullion attachment
utTRACON®| 1/ 1-3/ 4 (@ head &sill

2

FRAME ANCHORING
[0)(¢)

*NOTE: These additional anchors required for D.P. > 55 PSF only.

o
e
-

SEE STRIKE d 1

| — PLATE DETAIL t

< & ©
<&
25
86

L1
=T —— 4'(TYP) -
SILL ANCHORS:
#10 X 2-1/2" PFH WOOD SCREW
1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW STRIKE JAMB
W .
#8 X 2-1/2" PFH WS
* = //
1] /‘ : .
#8 X 1"PFH wsé:. i ;; . #8 X 3/4" PFH WS
'\ Ll "
— 4" X 4" HINGE
A\

HINGE DETAIL 1

— DEADBOLT SECURITY 3 | #B8X2-1/2' PFH WS
STRIKE PLATE =
#10 X 3" PFH W <= s T
#8 X 1" PFH wséf' A" T
#8X 2-1/2' PFH WS —= o HledF— #8X3/4'PFHWS
LATCH STRIKE ~— 4 X 4" HINGE
— PLATE \

u,
0~
2 ¥ 0
o o
‘ge 10 510
Ex 2 W @
(4] 1 Zr
0w Om OT
Zz 4
h:ﬂ. —EES g
c 5 b2 Y
3 qu gz
€F =29 09
R Jdg¢ 0k
53k mg
[7:] - {f
Z OwW ol
s [e N1 ma
& 0“3 ol
oxz K
v > 9 W
L SmDe Of
& =Zg6 ¢
o 590¢ 5{5
o m o0 og
S
[} [
Lol
& E
2 EK ]
£ go
5
[*]
o
o
(&)
=
S
¢ 5
3 .
) | =
> B <
L = W
|
a3
<| &
5 x| =
= o
o} &
az <C
a o
2 I
L il

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

11/19/191ADD “FusionFrame” OPTION &

1

L
<C
O
S
=z
7

DATE: 12/04,/'1

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4756

SHEET 7 ofF 7

@ 2016 R.W. BUILDING CONSULTANTS ING.



